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. 52 Metre and Centimetre

.
Fill in the blanks :
@ 8m= 800 cm @ 300cm= 3 m
@ 4500cm= 45 m @ 2m= 200 cm
® 10m= 1000 cm ® 1000cm= 10 m
@ 900cm= 9 m T0m= 7000  cm
© 100m= 10000 cm @ 100cm= 1 m
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Measuring :
@ ‘ ’ about d cm
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@ about 9 cm
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Answer according to the figure :

@ "ss4—, :hARE > AEBD HAS en? @ 525cm
Route I: Starting from A and going directly to D, what is
the distance travelled in cm ?

@ rymm= hAmE > @BHD £AS dem? @_640cm
Route II: Starting from A and going to D via B, what is
the distance travelled in cm ?

@ gz, mAbE > @CHD £A£% ben? @ 620cm
Route III: Starting from A and going to D via C, what is
the distance travelled in cm ?

¥ 8% —

ONPSENT TR TS ¥ ¥ @ Route I
Among the three routes above, which one is the shortest ?

2 -

® UE=Zf4hB% THELELRE? ® Route II
Among the three routes above, which one is the longest ?

©® BREWMBRILEEOESLE $ Yen? ® 1l5cm

How much longer in cm is the longest route than the
shortest one ?
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